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SAMPLE PAPER - 2008

Class - X

SUBJECT – Mathematics
General Instructions : 

(i) All questions are compulsory.

(ii) The question paper consists of 4 sections A, B, C & D.

(iii) Section A contains 10 questions of 1 mark each, Section B is of 5 questions of 2 marks each, Section C is of 10 questions of 3 marks each and Section D is of 5 questions of 6 marks each.

(iv) There is no overall choice. However, an internal choice has been provided in  
      
one question of two marks each, three questions  of three marks each and

     
 two questions of six marks each.

(v) In question on constructions, the drawing should be neat and exactly as per the given measurements.

(vi) Use of calculators is not permitted. 

(vii) Rough work if any to be done in the rough work column neatly.

(viii) Write your answers in the answer sheets provided.

_________________________________________________________________________________
This question paper consists of 6 printed pages.
SECTION - A

1. Given H.C.F ( 4052, 12576 )  =  4, find the L.C.M ( 4052, 12576 ).

2. For what value of k, the quadratic equation 
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 has equal roots?
3. In the given figure, DE // BC. If AD = 1.5 cm and DB = 3cms. What is the ratio of the area of 
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4. From a point P, 2.6 cm away from the centre of a circle of diameter 2 cm, two tangents are drawn. Calculate the length of the tangents.

5. If 
[image: image4.wmf]3cot4,

q=
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6. A student draws a cumulative frequency curve for the marks obtained by 40 students of a class, as shown below. Find the median marks obtained by the students of the class.
[image: image27.emf]
7. A coin is tossed twice. Find the probability of getting atleast one head.

8. Which term of the sequence 114,109, 104 … is the first negative term?

9. The graph of y = f(x) is given below. Find the number of zeroes of f(x).

10. A cylinder, a cone and a hemisphere are of equal base and have the same height. What is the ratio of their volumes?
SECTION B
11. For what values of p will the pair of linear equations given below have unique solution?



[image: image6.wmf]480

2220

++=

++=

xpy

xy


12. Without using trigonometric tables, find the value of
 
[image: image7.wmf]0

000

0

cos70

cos57cosec332cos60

sin20

+-


13. Seventeen cards numbered 1,2,3,……,16,17 are put in a box and mixed thoroughly. One person draws a card from the box. Find the probability that the number on the card is 



(a)  a prime                 
(b)  odd      

                                                 OR
One card is drawn from a well shuffled deck of 52 playing cards. Find the probability of getting

(a)  a non-face card                 
(b)  a black king or a red queen. 
14. Find a point on the X-axis which is equidistant from ( 2, 
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15. ABD is a triangle, right angled at A and AC 
[image: image10.wmf]^

BD. Show that AB2 = BC X BD.
SECTION C

16. Find all the zeroes of 2x4 – 3x3 – 3x2 + 6x – 2, if you know that two of
its zeroes are 
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 and 
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17. Use Euclid’s algorithm to find the H.C.F of 135 and 225.

                                                 OR

Show that any positive odd integer is of the form 6q + 1, or 6q + 3, or 6q + 5, where q  is some integer.
18. Draw the graph of the equations
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. Determine the vertices of the triangle formed by the lines representing these equations and the X-axis. Shade the triangular region so formed and calculate its area.
19. A contract on construction job specifies a penalty for delay of completion beyond a certain date as follows: Rs 200 for 1st day, Rs 250 for 2nd day, Rs 300 for 3rd day and so on. If the contractor pays Rs 27750 as penalty, find the number of days for which the construction work is delayed.
20. Prove that 
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                                                  OR

Prove that 
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21. Find the area of the quadrilateral whose vertices taken in order are 
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22. Construct an isosceles triangle whose base is 8 cm and altitude is 4 cm. Draw

another triangle whose sides are 1½ times the corresponding sides of the

isosceles triangle.
23. A horse is tied to a peg at one corner of a square shaped grass field of side 15m by means of a 5m long rope. Find the area of that part of the field in which the horse can graze.
                                                               OR
A chord of a circle of radius 12 cm subtends an angle of 1200 at the centre. Find the area of the corresponding segment of the circle.
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24. The incircle of 
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 touches the sides BC, CA, and AB at D, E and F respectively. If AB = AC, prove that BD = CD.

25. In what ratio does the point 
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 divide the line segment joining the points 

[image: image22.wmf]A(6,10)andB(3,8)?

--


SECTION D

26. If we add 5 to the denominator and subtract 5 from the numerator of a fraction, it reduces to 
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. If we subtract 3 from the numerator and add 3 to its denominator, it reduces to 
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. Find the fraction. 
                                                                       OR
A person can row downstream 20 km in 2 hrs and upstream 4 km in 2 hrs. Find the man’s speed of rowing in still water and the speed of the current.
27. If the median of the distribution given below is 28.5, find the value of x and y.
	Class Interval
	  0 - 10
	10 - 20
	 20 - 30
	 30 - 40
	40 - 50
	50 - 60
	  Total

	Frequency
	     5
	    x
	     20
	     15
	     y
	     5
	     60


28. In a triangle, if the square of one side is equal to the sum of squares of the remaining two sides, prove that the angle opposite to the first side is a right angle. Using the above, do the following: 
ABC is an isosceles triangle with AC = BC. If AB2 = 2AC2, prove that ABC is a right triangle.
29. A container made up of a metal sheet is in the form of a frustum of a cone of height 16 cm with radii 8 cm and 20 cm respectively. Find the cost of milk, which can completely fill the container at the rate of Rs. 15 per litre and the cost of metal sheet used if its cost is Rs. 5 per 100 cm2. ( Use 
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30. A straight road leads to the foot of a tower 150 m high. From the top of the tower the angles of depression of two cars standing on the road are observed to be 300 and 600 respectively. Find the distance between the two cars.
                                                                       OR
Two poles of equal height stand vertically opposite to each other on either side of a road, which is 100m wide. From a point on the road between the poles, the angles of elevation of the tops of the poles are 300 and 600. Find the height of the poles. Also find the distance of the point from the feet of the poles.
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